Fluorescence Ratio in Sliding Window of 10 Genes

(A) Array 1
2 | Diploid ¢ =0 vs. Diploid = 0

15T

0.5+

(B) Array 2
- Tetraploid line P, # = 1766 vs. Tetraploid t =0

(C) Array 3
2 | Tetraploid salt line ps, ¢ = 1766 vs. Tetraploid ¢ =0

(D) Array 4
- Tetraploid salt line ps, t = 1766 vs. Tetraploid 1 =0

%k
(F) Array 6
5 éft)raAll(’)fiz};ifeP 66 e Tetmanloid 1 ' Tetraploid salt line gs, £ = 1766 vs. Tetraploid ¢ = 0
1.5+
1 ,
___________________________________________________________________ '\ e
0.57 - " *
(G) Array 7 (H) Array 8

2t Tetraploid salt line ps, t = 1766 vs. Tetraploid line P, t = 1766

- Tetraploid ¢ = 0 vs. Tetraploid line P, = 1766

123 4 567 89101112 13 14 15 16

Chromosome

123 4 567 89101112 13 14 15 16

Chromosome



Fluorescence Ratio in Sliding Window of 10 Genes

1.5+

0.5+

157

0.5}

() Array 9
- Tetraploid line Q, ¢ = 1766 vs. Tetraploid t =0

(J) Array 10
| Tetraploid salt line gs, = 1766 vs.Tetraploid line Q, 1 = 1766

i
Ll - A - - - - m T g oo
\ i
I
____________________ " .
i
(K) Array 11 (L) Array 12
- Tetraploid salt line gs, # = 1766 vs.Tetraploid line Q, = 1766 | Tetraploid salt line gs, = 1766 vs. Haploid 7= 0
A ot «i
(M) Array 13 (N) Array 14

- Tetraploid salt line rs, £ = 1766 vs.Tetraploid line R, = 1766

'

i

) v

111

- Tetraploid salt line gs, = 1766 vs.Tetraploid line Q, 1 = 1766

<«

(O) Array 15
- Tetraploid salt line R, # = 1766 vs.Tetraploid line rs, t = 1766

111

(P) Array 16
- Tetraploid salt line ss, # = 1766 vs.Tetraploid line S, 1 = 1766

123 4 567 89101112 1314 15 16

Chromosome

123 4 567 89101112 13 14 15 16

Chromosome



Fluorescence Ratio in Sliding Window of 10 Genes

1.5}

0.5¢

1.5¢

0.5¢

1.5}

0.5¢

(Q) Array 18
- Tetraploid line R, = 1766 vs. Tetraploid =0

(R) Array 19
| Tetraploid line S, 1= 1766 vs. Tetraploid £ =0

_____ It | H! W
R | I B, y_ -t T
ii
(S) Array 20 (T) Array 21
- Tetraploid salt line ss, # = 1766 vs.Tetraploid line T, 7= 1766  + Tetraploid salt line ps, ¢ = 186 vs. Tetraploid salt line ps, ¢ =93

m

_____________________________________________ L a1 A L
(U) Array 22 (V) Array 23

- Tetraploid salt line ps, £ = 93 vs. Tetraploid t=0 - Diploid =0 vs. Diploid =0

(W) Array 24 (X) Array 25
- Tetraploid = 0 vs. Diploid =0 - Tetraploid salt line ts, # = 1766 vs.Tetraploid line T, r = 1766

123 4 567 89101112 1314 15 16
Chromosome

123 4 567 89101112 13 14 15 16

Chromosome



(Y) Array 27
2 | Tetraploid salt line ts, £ = 1766 vs. Tetraploid salt line ps, £ = 1766

1.5

123 4 56 7 89101112 1314 15 16

Chromosome

Fluorescence Ratio in Sliding Window of 10 Genes



